Quiz 5

Davis Name:
M211 Pledge:
(10pts.) 1. Find % of the following functions

_ 224x+1 . dy _ (23-52242)(2z+1)—(z®+2+1) (322 —5x)

A Y= 55212 dx (z3—bx2+2)?
b. y = e* sin(z?): &y — 2xe”” sin(x®) 4 e cos(z?)(322)

c. y = sin(cos(2?)): % = cos(cos(2?))(— sin(z?))(2z)

d. y = 5arctan (e®): % = 1+5(f;)2

2 2 _ L dy _ —2zy—y?
e. z7y +ay” =10: 7 = 5
(10pts.) 2. Justify the following formulas using the given information:

a. Use cos(a+3) = cos(a) cos(3)—sin(a) sin(B) together with limy, ¢ Sm}Eh =
1 and limy, g Cos(h —1 — 0 to show that (cos(z)) = —sin(z).
liIllh—»O.COS(:E+h}z cos( ) hll’lhﬂo cos(z) Cos(h)fsiril(w) sin(h)—cos(z) __ linlh*)() Cos(z)(c;s(h)fl
sin(x)&éh) = —sin(z)

b. Use the chain rule to show that (arctan(x)) = ﬁ
tan(y) = x; COS%( )Zg = 1; % = cos?(tan~'(z)) = .5 (The last part

required an argument from the triangle)
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